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Part 1 Reading Comprehension
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Original Article is from Foreign Policy Journal, November/December 2003
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0 O O There are more than 8 million matchmaking websites.

0 O O The Malaysian court approved the divorce because of a similar event in
Dubai.

O 0 O Trusting SMS messages is difficult because it is hard to prove that
someone actually wrote the message.

0 0 O Women in many countries are complaining about being divorced through
technology.

0 O 0 Malaysia’s prime minister thinks using technology to divorce someone is
a good idea.

0 O O Technology has never been used for expressing feelings of ‘love’ or ‘hate’.
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0 O O Technology is being used to do the things that people don’t want to do
face-to-face. O

0 O O Using technology is a great way to get a divorce.

0 O O Technology is being used to do things that people could not do 10 years
ago.

0 O 0 Muslim values are being changed because of technology.

0 O O Technology has not changed the way we live.
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Part 2 Personal Response to the Writing
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Write a short essay expressing your opinion about technology and
(1) | communication in relationships. In your answer you should include at least

three examples in the body of your essay to support your opinion.
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